Lattice Multiplication (E)

2 8
28x14=__

2 8
28 X 76 =

5 9
S9x16=__

4 9
49x12=__

Use lattice multiplication to find each product.

4 1 9 4

1 6

4 4
41 x14=___ 94 x 64 =
7 9 7 0

1 2

2 3
T9x12=___ 70 x 23 =
8§ 3 6 4

3 9

3 9
83 x33 = 64 x 99 =
13 7 5

1 7

3 7
13x13=___ 75 %77 =

57 x 79 =

48 x 98 =

80 x 56 =

82x14 =
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Lattice Multiplication (E) Answers

2 8

0 0 1
0 2 8
0 3 4
3 8 2
9 2

28 x 14 =392

49 x 12 =588

Use lattice multiplication to find each product.

4 1

0 0 1
0 4 1
1 0 4
5 6 4
7 4

41 x 14 =574

9 4 8

79 x 12 =948

8 3

2 0 3
2 4 9
2 0 3
7 4 9
3 9

83 x 33 = 2.739

13x13 =169

94 x 64 = 6,016

6 1 0

70%x23 = 1,610

6 4 6

64 x99 = 6,336

75 %77 =5,775

48 x 98 = 4,704

8 0

4 0 5
4 0 0
4 0 6
4 8 0
8 0

80 x 56 = 4,480

82x14=1,148
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